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According to the central-limit theorem, the distribution of the sample
mean value tends to a Gaussian distribution for a large number of indepen-
dent samples N . The confidence interval can then be computed as follows:[
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, (1)

where z(1−α/2) is the (1 − α/2) quantile of standard normal distribution. In
terms of the 95% confidence interval (α = 0.05) the corresponding quantile
yields

z0.975 = 1.96, (2)

giving a confidence interval of[
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]
. (3)

With confidence of 95% the true mean 〈U〉 lies in the interval between
11.085m/s and 11.395m/s.

This work is licensed under the Creative Commons Attribution-

NonCommercial-ShareAlike License. To view a copy of this license, visit

http://creativecommons.org/licenses/by-nc-sa/1.0 or send a letter to Cre-

ative Commons, 559 Nathan Abbott Way, Stanford, California 94305, USA.

1


